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B. Com. (Part I) EXAMINATION, 2018

(Group—I : Accounting)
Paper Second
BUSINESS MATHEMATICS

Time : Three Hours ] [ Maximum Marks : 75
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Attempt all the five questions. One question from
each Unit is compulsory. All questions carry equal

marks.
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(UNIT—I)
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Find the differential coefficient of the function x*.
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y=—10.5x%+672x + 205

Find out the maxima and minima of the
following :

y:_m.s,r? +672 x + 205
p.T.O.
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4.6 x(.0726)° x ¥.8342
(07241 x 6273

Find the value of the following applying
Logarithms :

4.6 x(.0726)3 x 38342
(.07241)* x /.6273
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8log2 -2log 4
log 2

Simplify without use of Log tables :
8log2 -2log 4
log 2
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(i) m?=2n+31

(i) m* +n? + 31

1 R
If m=[l 0} and n=[h 4}. find :
23 32

-

@iy w4+ 2m+31
(i) =2+ 31

(iii) m® +a° + 31

TFE—3

a2zSubjects.com (UNIT—3)

==3x+ 35
wafd
r ,._ 7_‘! = ',O
x+ysis
y <6
x>0,y 20. a2zSubjects.com

A-QR

P.T.O.

4
(4] a2zSubjects.com 52004

ve the following linear programming proble by

Sol
graphical method :
z=3x+5y
such that :
x+2y=20
x+y<I5
y <6
and x=0,y20. -
JEar
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In one pot the ratio of milk and water is 3 : 5 and in
another pot it is 6 : 1. In what ratio should the contents

of the two pots be mixed so as to make the l'atjo ..

between milk and water 7 : 3 ?
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A father desires to distribute T 51,783 between his two
sons who are respectively 12 and 15 years old, in such

. a way that the sums invested @ 5% p. a. compound

interest will give the same amount to both of them
when they attain the age of 18. How should he divide
the sum 7
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A man retires at the age of 60 years and his employer
gives him a pension of ¥ 1,800 a year paid on half
yearly instalments for the rest of his life. Reckon his

expectation of life to be 13 years more and that interest

is at 4% per annum payable half-yearly. What single

sum at present is equivalent to his pension ?
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10 years ago the average age of the family of 4
members was 24 years. 2 children have been born,
the average age of the family is same today. Find
the present age of the two children, assuming that

the children’s age differ by 2 years.
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A man gave 35% of his sum of money to his son
and 25% to his daughter. 50% of the remaining
gave to a school still he has ¥ 2,000 with him.

Find his total sum.
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How many pens an agent need to sell at T 8.55
each to earn a commission worth T 85.50 at the

rate of commission 5% ?
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A photographer offered to supply 12 copies of
photograph for ¥ 25 and 20 copies for T 35 and his
profits are T 5 and ¥ 7 respectively. For what sum

should be supply 30 copies in order to make a

profitof T 10 ?
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